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1.  Select the correct option for seeking permission :
(1) I am going for a picnic.
(2) Can I go for a picnic ?
(3) I am not going for a picnic.
(4) I went for a picnic.
2. Find the odd word :

(1)  cabbage (2) ostrich
(3) radish (4) brinjal

3. Fill in the blank using the correct article :
Neha saw ........... elephant in a zoo.
(1) a (2) no article
(3) the (4) an

4. Read the words in the following diagram. Choose one correct
punctuation mark.

Oh
Bravo
(1)  full stop (2) comma
(3)  exclamation mark (4) question mark
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5. Choose the correct alternative :

1,000,000 = ?
(1) ten thousand (2) one lakh
(3) a million (4) ten million

6. Select the correct option :

15 August is our .......... day.
(1) Republic (2) Independence
(3)  Mothers’ (4) Teachers’

7. Choose the correct greeting from the options.

Ajay was ill. Hrishikesh visited him in hospital. He said, “............. !

before leaving hospital.

(1) Welcome

(2) Go to another doctor
(3)  Congratulations

(4)  Get well soon

8. By arranging the given words in alphabetical order, which word will

be in the middle position ?
forehead, eyelid, eyebrow, eyelash, elbow
(1) eyebrow (2) eyelid

(3) eyelash (4) elbow
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9. Select the correct option :

The girl has a

(1) stomachache (2) headache
(3)  cough and cold (4) fever

10. The sun rises in the ..............
(1) North-east (2) South-east
(3) East (4) West

11. Solve the riddle :
I use a plough. I grow crops. Who am I ?
(1) former (2) founder

(3) framer (4) farmer

12. Choose the correct contracted form for the underlined words :

I will not come with you.
(1)  wont’ (2) won’t

(3) wont (4) willn’t
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Instructions for Q. No. 13 to Q. No. 15 :

13.

14.

15.

Read the passage carefully and answer the following questions :

Vidya-Vardhini High School got the sports championship this year. The
students were the toppers in ‘Kho-Kho’, ‘Cricket’, ‘Athletics’ and
‘Football’. They also lifted the ‘Swimming’ trophy. City High School were

runner-up. They lost the championship by two marks.

How many sports are mentioned in the above passage ?

(1) two (2) four

(3) five (4) six

Find the opposite word for ‘lost’.

(1)  lifted (2) won

(3) gain (4) foot

Friend : Friendship :: ? : Championship.

(1) City (2) Cricket

(3)  Vardhini (4) Champion
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16.

17.

18.

Read the following sentences. Choose one correct option which has proper

position of comma.

(1) If we go deep down, in the ocean there is no sunlight.

(2) If we go deep down in the ocean, there is no sunlight.

(3) If we go, deep down in the ocean, there is no sunlight.

(4) If we go deep down in the ocean, there is no, sunlight.

Choose the correct comparison :

as slow as .....cooon.....

(1)  butterfly (2) ice

(3) bee (4) snail

Choose the correct punctuation mark for the given sentence :

It’s 5 oclock.

(1) Question mark (2) Apostrophe

(3) Comma (4) Exclamatory mark
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19.

20.

21.

Choose the correct alternative :

The hut was ........... the sea.
(1) near (2) on
(3) in (4) above

Read the following motto regarding tree plantation programme. Select

the correct alternative to complete it.

Each one, ............... one.
(1) sleep (2) plant
(3) jump (4) drink

Solve the following puzzle :

w
f | k
1
f
(1) e (2) s
3) a 4) o
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22. Find the hidden letter in the given picture :

1 H 2) k
3 t 4) Q

23. Choose the correct living place for ‘pig’ :
(1) kennel (2) stable
(3) den (4) sty

24. Select the correct rhyming word for the given object :

X
- N

(1) man (2) den

3) fun (4) mud

25. Choose the mismatched pair of the following :
(1) man-men (2) deer-deer
(3) leaf-leafs (4) ox-oxen
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